Unit 3 Review
Secondary III
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Find all the zeros of the following functions
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3. h(x) = 3x* = 2x® - 3x +2
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Given the following zeros and multiplicities, write a function in factored form

6. 2 (multiplicity of 3), 5, =7 (multiplicity of 2)
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7. 4, 2(multiplicity of 5), -3
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8. Giveng(x) = 3x® — 8x? + 3x + 2, use the rational root theorem to determine
which of the following are possible zeros of the function.
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For the following functions, find the zeros, state the end behavior using limit
notation, and graph the function.

9. fx)=—(x+2) (x-1) X
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10. h(x)=x(x+3) (x=2)
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11. f(x)=x°-10x>+14x +16
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zeros: X=-Y%,-1,1,4
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13. 3x° - 8x” + 3x + 2 = 44(X)
2 -v % 2z
3 9 -2
2 -5 .2
S 3Rt ex-2

0= (x-DG-2) (3x41)

zeros: X=1, 2,-Y3 ‘
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Given the following graphs analyze the functions -
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Domain: (-#, 40)"

Range: (-0, )

Increasirgg: (-0, -3) UCQ-‘B/ 00)

Decreasing: (-3,0.2
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x-intercept(s): (-2,0) (2/0)

y-intercept: (0(-Q)
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Solve the following polynomial inequalities

16. x*-3x2-x+320 17. X’ =7x*+10x+6<0
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